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It was taught; whether the pit was above and the tree below, etc.

Overview

The mwn taught that one must distance his tree twenty-five nX from a pit, and if it
1s a 11717 or a MMPW tree he must distance fifty mMnX, whether it is above or from the
side. The X7 n3 cites a Xn>72 that this distancing must take place whether the pit is
lower and the tree is higher or whether the pit is higher and the tree is lower. N1501n
explains what the Xn>>72 is adding to the mwn.

mooIN responds to an anticipated difficulty:!
- 210959 122 199199 153 13 39) PIINNAT 2) HY N TH INIPRY TPIOHN
It was necessary to cite this Xn>12, for even though it was also taught in the 77awn

‘whether above or whether below’, so seemingly we know that their relative positions do

not matter -
- 3INP AYYT INP NNPPYI 2INRT NHN NIN 1PNOINNN SNT B1P1 Y90

Nevertheless we still need the Xn» 12, for if we would only have our mw», I would
have said that the phrase 21 199197 2 is referring to the case of mmapwn 217n, for

21 17911 12 is stated immediately following mmpwy 2170 -
- 1998 993 N2 )Y ¥PUN NP

The Xn"92 therefore lets us know that by all trees the rule of 121 12vn%n 172 applies.

- Y NN 4NN 12 PNINNA 1D KT 02990 .171HN)
(An annotation. And according to the texts who are not 71 in our mw» the

words Junbn 12, it is properly understood the need to cite the Xn»92-
= AN NYY SIND 19NN 199199 192 XPNHN M0 PHINNN INT

For if from our mw» alone, I would say that the words 7377 72 12 Jopna®n» 12 are

!'See ‘Overview’. The mawn stated 7377 72 172 72ynn 12; This would seem to indicate that the relative position of the
tree and the pit is irrelevant; in all cases one must distance. What is the 072 adding?!
2 In our texts the 7Iwn reads 7¥7 71 172 1991090 172, however mooin had the X073 of Tunbn 172 12ynon 13, which makes the
difficulty more pronounced (see later in the 7"7137).
3 The mawn reads 121 172 A2YR51 P2 AR D°WAN APWAY 1M ,7RK WAM 2°WY 27T 12 12X DX R0, one can argue that
the rule of 131 19¥1%1 12 is only regarding mnpwy 2170 (which are more restricted; mnX o>wnn instead of wam o wy).
4 This is our X077 as well.
5> The mawn is teaching that whether the tree is higher than the pit, or whether it is on the side of the pit, the tree needs
to be distanced. This is well understood for even if the tree is higher on the slope of the mountain than the pit,
nevertheless its roots will follow the ground downwards towards the pit. However, if not for the Xn»71 we would never
assume that if the pit is higher than the tree that distancing is required, since the roots will not travel uphill. Therefore,
we require the Xn»72 to teach us that in all cases distancing is required.
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referring only to the tree, but not to the 913; the reason we would assume so is -
1(N70)0 NS 1Y NXDIAN 759979 NN NVNYM 19N NYYNYN M KIN SWPN NYT 0IVN

So that you should not ask, as the X 3 actually asks on the Xn92 (that we can
understand why if the tree is higher one needs to distance); ‘however if the pit is
higher and the tree is lower, why is it necessary to distance;’ the roots will not
travel uphill. This concludes the annotation.):

Summary
We need the Xn>>72 to either teach us that distancing is required by all trees, or that

distancing is required even if the pit is higher.

Thinking it over
According to the X07°2 in the 73w of 'Junbn 1721 19vn%n 12, is this referring to the pit,
or is it referring to the tree?°

6 See footnote # 3.
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